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INSTRUCTIONS AND INFORMATION

General

1. Do not open the booklet until told to do so by your teacher.

2. You may use any teaching aids normally available in your classroom, such as MAB blocks,
counters, currency, calculators, play money etc. You are allowed to work on scrap paper and
teachers may explain the meaning of words in the paper. Mobile phones are not permitted.

Diagrams are NOT drawn to scale. They are intended only as aids.

4. There are 25 multiple-choice questions, each requiring a single answer, and 5 questions that
require a whole number answer between O and 999. The questions generally get harder as
you work through the paper. There is no penalty for an incorrect response.

5. This is a competition not a test; do not expect to answer all questions. You are only
competing against your own year in your own country/Australian state so different years
doing the same paper are not compared.

6. Read the instructions on the answer sheet carefully. Ensure your name, school name and
school year are entered. It is your responsibility to correctly code your answer sheet.

7. When your teacher gives the signal, begin working on the problems.

The answer sheet
1. Use only lead pencil.

2. Record your answers on the reverse of the answer sheet (not on the question paper) by
FULLY colouring the circle matching your answer.

3. Your answer sheet will be scanned. The optical scanner will attempt to read all markings
even if they are in the wrong places, so please be careful not to doodle or write anything
extra on the answer sheet. If you want to change an answer or remove any marks,
use a plastic eraser and be sure to remove all marks and smudges.

Integrity of the competition

The AMT reserves the right to re-examine students before deciding whether to grant official
status to their score.

Reminder: You may sit this competition once, in one division only, or risk no score.
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1-10 &, & 3 4

Questions 1 to 10, 3 marks each

L A RIS 2 DA ESL T A

T
How many cubes are shown here? @ @ ' @ .
(D) 12 (E) 18

(A) 6 (B) 9 (C) 10

2. 20420 =

(A) 40 (B) 30 (C) 200 (D) 220 (E) 2020

3. EMAEF R BT TN 2 2 b
What time is shown on this clock?
(A) 3:05 (B) 3:50 (C) 5:03

(D) 5:15 (E) 5:30

4. 1EM 16 H)—F 22 /D2
Half of 16 is
(A) 32 (B) 4 (C) 9 (D) 7 (E) 8

5. AREEWIN, iR G REZMIL?
(A) 28y (B) Z2#8+f (C) £28/ (D) £2HH (E) HEXR
Today is Thursday. What is the day after tomorrow?
(A) Thursday (B) Friday (C) Saturday (D) Sunday (E) yesterday
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6. MEHECYIE, HREAIUFPIECEy it - RN ?

How many pieces have been placed in the jigsaw puzzle so far?

(A) 25 (B) 27 (C) 30 (D) 33 (E) 35
7. R BT EMAIER R Z? llm 7m

What is the perimeter of this triangle? 16m

(A) 33m (B) 34m (C) 35m (D) 36 m (E) 37Tm
8. HEE AR, ENTRNAE

R T B 7 B8 k42 B n] K 1 913k
BERTIR I T 1R B — SN TS

MITRE R et &, T R) T A R — 33
) ZR A A o A I AR 1 38 iR ok
RIINLE?

Tia is playing a computer game with a
rabbit on a grid. Each arrow key moves

the rabbit one square in the direction on
the key.

Starting in the centre of the grid, which
sequence of moves takes Tia’s rabbit back
to this starting position?

(A) (B)
(C) (D)
®) === )
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9. WMWLNA 10 M, —FEEMEm mEN 20 £4, A—FHER
WM MAEA 50 557, 1E XL TR S8E 2 /D? (13£56=10035)

(A) 150 56 (B)23s6  (C)250%Fc  (D)3FE5L  (E)3.50FETT

I have 10 coins in my pocket, half are 20c coins and half are 50c coins.
The total value of the coins is

(A) $1.50 (B) $2 (C) $2.50 (D) $3 (E) $3.50

10. JaBeta g/ G m Ry, Gegempid. N E SR eSS ERTTAN
A BT A B A

X9 Eggs

30

20 - e e

Nony
[LE0A

Cera

10

0- Ry
—H ~H —H a4 H LA NH
Jan Feb Mar Apr May Jun Month

i AT LA H e B R b phhr 22 2
The graph shows the number of eggs laid by backyard chickens Nony
and Cera for the first six months of the year.

In how many months did Nony lay more eggs than Cera?

(A) 1 (B) 2 (C) 3 (D) 4 (E) 5
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11-20 &, H& 4 5
Questions 11 to 20, 4 marks each

11. /NEA 9.50 76, Al 1.75 JTKACR BVEA2E,  [RI 4 A7 i AC
7 1.30 JGo 1 ) fi Jr Aol | 22 Dk ?
(A)33576 (B)43576 (C)515756 (D) 77506 (E) 8.20

Micky had $9.50. He spent $1.75 on fruit for lunch and gave his two
friends $1.30 each. How much money did he have left?

(A)$3.35  (B)$4.35  (C)$5.15 (D) $7.75  (E) $8.20

12, {EFRIRIFAREE W, /N2 15 MR, /DA 8 Mgk, /KA 4
RURER . INEENZ— SRR B AT 2 DR, A Reik T — &)
AR KoK s BR B A [ 2
At the end of a game of marbles, Lei has 15 marbles, Dora has 8 and

Omar has 4. How many marbles must Lei give back to his friends if
they want to start the next game with an equal number each?

(A) 5 (B) 6 (C)7 (D) 8 (E) 9

13. 1o M52 E N 3 mm.
ANIUREIX AT — HERE T HE S B B0 60 mm (1) — 3R,
5 X FR A T I 2 /DR 2

Australian $1 coins are 3 mm thick.

Chris makes a stack of these coins 60 mm high.
What is the stack worth?

(A) $3 (B) $20 (C) $36 (D) $40 (E) $60

14. A. B. C. D. E EAZ Ik 3E. B AR EEWAERE 4.
DI N NEARH —%. AT DI C S E. iGREZREE?
(A) A (B) B (C) C (D) D (E) E

Ada, Billy, Con, Dee and Edie took part in a swimming race. Billy
did not win or come last. Dee finished ahead of two others but did
not come first. Ada finished after Dee and Con finished before Edie.
Who won the race?

(A) Ada (B) Billy (C) Con (D) Dee (E) Edie
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15. (eI H B b, 5 Al i AT TR 58 b R i (8308 [ HE TR 1
BT R B R. SREida, AR T s H
2 BRI RTUS, W A E R,

2/ FAE BT A IE 5 T WGP S 1IN, 3R )R 2R T X 0
BT HIANAT & 2

At his birthday party, Ricky and his friends wear stripy paper hats
in the shape of a cone, as shown on the left. After the party, Ricky
makes a straight cut in one of the hats all the way up to the point at
the top, as shown on the right.

Which of the following best matches what the hat will look like when
Ricky flattens it out on the table?
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16. )\ W i3 G i ABKK 12 km, WAE PR,
)8/ T 7, A2 W rsdbr, FEES 4 km.
LR Y T, 2T G rdbim, FEE 2 kme
%?ﬂﬁﬂ$ﬁ%ﬂ%,%ﬁ@%§ﬁ%§
T ?

It is 12km by road from Woy Woy to Gosford,
as shown on this map.

Wyoming @Y Tji
Gosford @G Tl

Tascott®@T 117

Woy WoyeW
John lives in Tascott, 4 km north of Woy Woy. Y i
Marike lives in Wyoming, 2km north of Gos-
ford.
How far does John have to drive to visit Marike?
(A) 10km (B) 18 km (C) 16 km (D) 6km (E) 20 km

INSFT B — L6 BT ST R R s —

3 x 3 x3MIEN TR, AHAEH HUH’J
o 15 o

T ) At ik 75 2222 /D AN PR IE ST T AR A BE
SERAXAS 3 x 3 x 3 IIEAL T AK?

Jake is building a 3 x 3 x 3 cube using
small wooden cubes. The diagram shows
where he is up to.

17.

How many more small cubes does he need
to complete his 3 x 3 x 3 cube?

(A) 5 (B) 6 (C)7
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18. /NE¥— 5K 1E T AUk X 4 7 JLIR, O O
SRIGHT T — MR 2@ 4k R — 2 O ®
BTt I s WA E R O O
W R A — I 4Rk R B PTIR R 2 OO

Juanita started with a square of paper, made some folds in it, then
punched a single hole through all layers.

The diagram shows what it looked like after she unfolded it and flat-
tened it back out.

What was the pattern of folds she made?

1 1

1 1

N ! ’ N ’ !

N ! . N ’ !

SO Ll > R 1

ol o ( ) (Nt ( ) !
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V2R BN . N 1
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19. FAPHAE A AR S 5 EJSCT SRR A SRR o 1 B A P £ — 45 5
AL EMFET

/N Bl TR BT PE AR A S R T 365 0] R AW — I T W s AN rg
XA R

Aidan puts a range of 3D shapes on his desk at school. The diagram
shows the view from his side of the desk.

Nadia is sitting on the opposite side of the desk facing Aidan. Which

of the following diagrams best represents the view from Nadia’s side
of the desk?

20. A TM 50 RO Tk 1 SROTHE M5 Al 2 SEOTRET . 1 A
2 DRI AT LA R 5 502 (1367T=1003€5>)

I have five 50¢ coins, five $1 coins and five $2 coins. In how
many different ways can I make up $57

(A) 4 (B) 6 (C) 8 (D) 10 (E) 12

L
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21-25 &, B&E 5 7
Questions 21 to 25, 5 marks each

L AR B S — A B, MR I A

IR /N SN S 15 AT i AN

R = AR E, AN NEB . MR AR, Wik )h
— o HJE, R )\, B AN N At

W, WS T4

5 3 2D NS X b g 2

After the first kilometre of the school cross-country run, Petra was
second last.

In the next kilometre she managed to overtake seven runners.

In the third kilometre, two runners overtook her. In the final kilome-
tre, she passed eight runners, but four other runners overtook her.
She finished ninth.

How many were in the race?

(A) 15 (B) 18 (C) 19 (D) 20 (E) 21

22.

FoRe A M IXAS RETT B3 AN IE ST T 1K
P R IX A 1E ST 7 AR AR 1T 8 AN 2
AT 2 =N IRFH 2 |5
IR S ONIP AP EE 21

I fold up this net to make a cube.
I then multiply the numbers on opposite faces to get three numbers.
The largest of these is

(A) 12 (B) 15 (C) 18 (D) 24 (E) 30
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23. BT —FA B TR L. MRS TN AT
EUE. BT, ARERAAMIXSET 38 b, LR e 104, 7
SRV, RS ESERANNER FREI M, 2 )5 RRET /B4R
e

=

15 T 3 AT
15 dirty plates 3 clean plates

MR A RX AN T IEAERGE Ve, 18 A XA ) LA E &
7 B (1 E A R

Emanuel works in a busy restaurant washing dishes. Each dirty plate
from the stack on the left takes 1 minute to wash and dry, before being
placed on top of the clean stack on the right. After 7 minutes, and
every 7 minutes from then on, a waiter brings 4 more dirty plates and
adds them to the top of the dirty stack.

How high is the stack of clean plates when the coloured plate is being
washed?

(A) 14 (B) 16 (C) 18 (D) 20 (E) 22
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24. HRIEH 400 iz, AR N AT — SRk s AR A oK. BN E
A, B. C =fifEiEN, A 53 EEE C M=%, B tbt A /b7 20
= iGN B RILE R b

A primary school has 400 students and they each have one vote for a
school captain. They voted for Jordan, Evie and Emily. Jordan got 3
times as many votes as Emily. Evie got 20 fewer votes than Jordan.
How many votes did Evie get?

(A) 20 (B) 60 (C) 100 (D) 140 (E) 160

25. /NVLAESDIE FATAE, A5 S G R B Y B A () () AR B, DR At A
Wb FEGESERR B =20, b LA B RE th T —H R R
1, WERTR.

FERTL00 22, 1 1) 2> se AT 20 /0 A 2 BB BV £ VR €0 e 1

Karl likes to avoid walking on the cracks in the footpath by taking
three equally spaced steps for every two blocks. Every third block of
the footpath is darker than the others, as shown.

In his first 100 steps, how many times does Karl’s left foot step on a
darker block?

(A) 11 (B) 16 (C) 21 (D) 25 (E) 33
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B RE 26-30 IZZEN 000-999 22 [8] K345,
TBRERBAEER R EXNNRIAE .
%26 By 64y, 2T EY T4, F 28 B 8 4,
% 29 W5 9 4, & 30 @A 10 4

For questions 26 to 30, shade the answer as a whole number
from 0 to 999 in the space provided on the answer sheet.

Questions 26—-30 are worth 6, 7, 8, 9 and 10 marks, respectively.

26. /TR T =AML
KA 3. 5. 6. 7. SFIOJUAMECTALN, HAEMET
WilF REEfEH — k. DS MO — A0 2 £, 25—
ANEOZEE AN 4 5. W AR E Y
Janine thinks of three numbers.

Between them, they use the digits 1, 3, 5, 6, 7, 8 and 9, with each
digit being used exactly once.

The second number is 2 times the first number.

The third number is 4 times the first number.

What is the third number?

27. fEAET, ARERR S SN REHEA TSR
HAEbR 7S “Hi A7 A& IR AR ]
PAAE /N i Te) BN 2 A 8), (HAE% A
W BLHEATR O TR N o AN iR K
REZeIL— R
A FIZAE 82 ) 5 AR pr &l /s ks
IR SRR o 335 i) W LAAS 33 AR B K
HiEZ D7

H I exit AN entry

In the diagram, you enter at the square labelled entry and exit at the
square labelled ezit. You can move horizontally and vertically along
the white squares, but must stay off the coloured squares. Each square
can only be visited once.

By moving this way and adding the numbers in the squares you pass
through, what is the highest sum you can get?

L
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AR E R DAL 2 R mf RISk ARy 3 R afRLfE - A
Flig 12 Ko A7 MARRILAT 22 MHHF AR L —L4mMm—H
Fo 1 )l R LR ] AR DR ?

A bale of hay can be eaten by a horse in 2 days, by a cow in 3 days and
by a sheep in 12 days. A farmer has 22 bales of hay and one horse,
one cow and one sheep to feed. How many days will his bales last?

29.

WHR— AN B B AR A WFRATIRRX AN “F7 780
B, 9. 57. 313 HET FEL

{HJE 50 55 787 WA REL, KA 05 8 #AEAT L.

WM 1 FFERE] 999 Sy Z /DN HUE AT 2 ?

A number is oddtastic if all of its digits are odd.
For example, 9, 57 and 313 are oddtastic.
However, 50 and 787 are not oddtastic, since 0 and 8 are even digits.

How many of the numbers from 1 to 999 are oddtastic?

30.

AN AR E S AR AL A 0 P s B ST AR T
(RSN, AR T 1 AN ESL A AR AN, A T 6 A4
IESL M A=A, AR T 19 N IEST A

VIR /N VA 36 55 A PRI T 2] 22 DA IE ST T 17

S %&

Oliver used small cubes to build a set of solid shapes as shown.

In the first shape, he used 1 cube; in the second shape, he used 6
cubes; in the third shape, he used 19 cubes.

How many cubes did Oliver use to build his fifth shape?
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